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Assignment 1

1. What are the domain and range of the function? L_C : Zuks]
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2. Explain how the vertical line test can be used to determine if a relation is a function. [C s bwaarls- |
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x -3 /£ 0 3 6 9
fx) 0 Y 0 27 72

Evaluate f(0).

Flo) s ke x20. Tha  Ffe):=-9

Fer : Y eowvectl
4. Evaluate, given f(x) = x? — 10x + 25. m ', A r(u:)? " 7

Corvect ansiris

a) f(3) (ks 2nerles] 0) f(-2) (k*2Zuerles]) Af@ (Fr2ecks]
FC3>=0* - 1o(3) +r2§ A2) = (-2) % - lol-D) +2s Fl3)=(z) - wli) s
2 A= 30+2% = 4 +20+2S -‘t‘{%*lg
8: 15 v . | _Ho , HooO
& & (6
- 36

L6



MCF 3M - Mr. Choi mr-choi.weebly.com Due: July 3, 2013

5. The graph of y = f(x) is shown below. Evaluate f(6). J( é) 'S when X = é
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6. A parabola opens down and i‘ vertex is located at (-2, -3). Write trle domain and range as a set (no
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7. Identify whether the set of data is linear or quadratic. Calculate the first differences, and second
differences, if necessary. G< : 3 e ka]
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8. The function g(x) is congruent to f(x) = x2. Describe the transformations applied to the graph
of f(x) = x? to obtain the graph of g(x). [C 23 ;M[cg] { Por el cdescevpdton
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9. Andrea threw a ball down to the ground from her balcony. The height of the ball is modelled by the 'R}’;{Cﬁi‘k’t
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where tis time in seconds. What are the domain and range of the function? ‘\,) O =-5 tl - (o/l & (2
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10. For each function, describe the graph in terms of transformations on the graph of y = x%. Then
sketch the graph. (Remember to label the vertex, axis of symmetry, and two other points).

(You will most likely need to do this on another sheet of paper)
a) f(x)=-x*+9
b) g(x) = 2(x —4)* -3

Oh(x) = =3 (x+ 1) +3
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